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Read the Christchurch Earthquake factsheet and then extend the spider diagram to explain whether
the consequences of the earthquake would have been different under the scenarios posed.

Link — Christchurch Earthquake Factsheet

a greater
proportion of the
city's residents
were of low socio-
economic status?

New Zealand had
an unstable
government?

the earthquake
had occurred

during the night
instead of at
lunch time?

the earthquake

focus had been
30km away and at
a depth of 20km

underground?

NGOs had not
been prepared to
offer immediate
help and support
to the residents?

the population
density of the city
had been higher?




